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Time: 2 hrs. -Marks:60

Note: 1. All the questions are compulsory. ‘
2. Figures to the right indicate full marks.

Q.1 Answer any TWO: (15)
A. What are the features of American Capitalism?

B. Write about features of central pl_anning in Soviet Union.

C. Discuss convergence thesis.

Q.2 Answer any TWO: ' (15)
A. Describe the features of mixed economy.

B. Discuss the Gandhian idea of Trusteeship.

C. Explain the components of reforms in China since 1978.

Q.3 Answer any TWO: 15)
A. Write about demerits of Transnational Corporations.

B. Discuss the impact of globalisation on Economic Growth.

C. Give details of Ecological crisis.

Q.4[A] State whether following statement are TRUE or FALSE and give reasons.
(Any Four) (08)

A. US economy is not a service economy.

B. Central Planning Board is more competent than private enterprises in long-term planning.
C. There is no regulation of private sector in India.

D. Leading role of public sector is not a feature of a mixed economy.

E. Globalisation does not promote international connectivity.

F. Globalisation creates employment opportunities.
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Q.4[B] Fill in the blanks: (Any Seven) 07)

1. The Russian word Glasnost means

A. Openness B. Reform C. Restructure

2 capitalism is characterised by Corporate Business Organisations.
A. American B. Russian C. Totalitarian

3. In socialism can hardly direct the production.
A. Producers B. Consumers C. Government

4. The mixed economy in India has undergone change since New Economic Policy
A. 1947 B.1951 C.1991

5. The process of Five Year Plan started in India since

A. 1956 B. 1951 C. 1947
6. principle of Gandhism is related to ownership of wealth and property.
A. Swadeshi B. Trusteeship C. Dignity of labour

7. North American Free Trade Agreement is an example of

A. Free Trade Area B. Common Union C. Common Markets

8. is the chief driver of globalisation.
A.Labour  B. Technology C. Capital
9. is an example of preferential trading agreement.

A. Common Wealth Preference System  B.NAFTA  C. AFTA
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